4 3 v 2 | 1

CLOPAY MODEL 902 REVISIONS
IDEAL MODEL C2AL UP TO 24’-2” WIDE X 18’-0” HIGH REV. NO.| ZONE: | DATE: ECN NO. | APPVD: DESCRIPTION
07 - 02/2022 - - REVISED FOR TDI.
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE S.E.CI]DH I -1 3" TALL x 20 GA. GALV. STEEL (MIN YIELD STRENGTH
vas |NUMBER OF ]
DOOR HEIGHT *A" | operinNs WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE OF 06315 ALUMINUM EXTRUSIONS. 50KSI) U—BAR. ONE AT THE TOP OF EACH SECTION EACH
UP 70 8'-0° 4 OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE WALL THICKNESS: ] U-BAR ATTACHED WITH (2) 1/4"x3/4" SELF TAPPING
gt NS B IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS TOP & BOTTOM RAILS ————.075 SCREWS PER STILE LOCATION. D
-3 g INTER. TOP & BOTTOM RAILS —.075
ig._g. -{nsﬂ ﬁ,_g. g REGIONS (FBC / IBC CHAPTER 16). TOP HAS .1 x 1.875" FIN THIS PRODUCT COMPLIES
14'-3* THRU 16'-0* 8 INTER. TOP RAIL CAP —————.040 WITH THE 2018 1BC/IRC. 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET
16'-3" THRU 18'-0°| O SINGLE & DOUBLE_ENO STILES 022 ATTACHED W/(4) #14x5/8" SHEET METAL SCREWS.
MAX. SECTION HEIGHT: 24" ADJUSTABLE 'SLIDE ATTACHED TO TOP BRACKET WITH QTY
ALUMINUM FULL VISION WINDOW LITES, SINGLE PANE (2) 1/47 X 1/2" BOLTS & NUTS PER BRACKET. TWO
OR INSULATED. ALL PANES ANNEALED GLASS OR BRACKETS PER SIDE
i STRONGER. SINGLE PANES 4" OR THICKER. INSULATED ™
?_?A,':"’OSESE?,EE;'ON WINDOWS §" THICK, CONSISTING OF (2) PANES §" -
THICK. MAXIMUM DLO 28" X 21-3/4". STRAPS ATTACHED WITH (3) 1/4" X3/4" SELF
DOOR TAPPING SCREWS (TWO SCREWS TO DOOR, ONE —
"L” 3 SCREW TO C—CHANNEL). SEE REAR ELEVATION
HEIGHT | "L"_ 5 M i FOR PLACEMENT.
8—-0"] 88 C—CHANNEL SEE SECTION
9 —0 1100° I e 1 GOR ORIAES FULL-VISION SECTIONS —|
10°-0"1112 AoyusTABLE L1 TO BE 1/8" DSB GLASS
izolie NINNEN swech B ot
14'_0" 160" BRACKHS g \ - - ’ . "
15 -0"11727 --_\n::‘g oz (N gE):-Zz:/I‘IE/W‘f 352"2 GA. GALV. STEEL PLATE.
r ¥ ” T e ——— L —— e S —————f S———— e ——— {f——_ & re—. pr— «
16—07184”
177—07196 4 C
18'—01208" #14X5/8" SHEET METAL
. Hei PINGES OF 14 GA MIN  SCREWS QTY () ALONG
180" GALV STEEL, FASTENED AS \
TWO POINT / SHOWN IN VIEW A.
LOCKING — ﬁ
oo JA_GA.
ONE 6" TALL, 16 GA. C—CHANNEL / w
2] |E=1) ——— 9 STRAPS PER SECTION PER DOOR SECTION. (1) {/ax3/4" SELF TAPPING
5 ; ! AS SHOWN 1/4"x3/4" SELF TAPPING SCREW SCREWS, QTY. (2) ALONG
3" ROLLER CARRIER 1 3 =y PER END STILE AND BACKER CORNERS OF EACH HINGE
PART # 0120394 [e— 22¢ TYPA—nodl £(5) CENTER HINGES PER SECTION PLATE LOCATION. (SEE VIEW "D")
MOUNT WITH QTY 3 O ! . A DROR D TH
SELF DRILLING SCREWS / NOTE 27:'__“"\\ \ VIEW "A"
A5 SHOBN e STilEs JAlWAYS25" PANEL IN BOTTOM SECTION
FROM CENTER TO CENTER. L BENC0S0/ THIICle SMOGTLS
FOR ANY GIVEN DOOR AT THE CENTER OF EACH C—CHANNEL ALUMINUM.
WIDTH, DIMENSION ‘B’ IS ATTACH THREE 6"x2—1/4"x12 GA. STEEL
THE LEFTOVER DIMENSION PLATE TO THE UNDERSIDE OF THE THE
ON BOTH SIDES OF THE C—CHANNEL WITH (4) 1/4"x3/4" SELF B
DOOR. THE MAXIMUM TAPPING SCREWS. BOTTOM ROLLER BRACKET OF 12 GA. GALV. STEEL,
TRl R o] RENEL VIEW "E" FASTENED WITH (4) #14 X 5/8" SHT MTL SCREWS
SIZE IS 23" X 24",
END STILES FASTENED TO /
RAILS WITH FULL LENGTH
CENTER STILES FASTENED TD RAILS : "
WITH FULL LENGTH 5/16° STEEL B e e DSuD £ BOTTOM SECTION REINFORCED WITH A TEMPERED

ALUMINUM EXTRUSION WITH INTEGRAL RETAINER FOR
RODS AND FLANGE NUTS OR-LOVLY CENTER HINGES DN i R enre
EVERY OTHER STILE STARTING 2-1/2
WITH CENTER OF DOOR. i

_ el o7 e 5/8" (TYP.)
COR-LOVLY CENTER HINGE DF 16 GA. GALV. :

STEEL, ATTACHED TO INTER. BOTTOM RAIL O Ll Tt

WITH (@ #14 x 5/8° SHT MTL SCREWS AND e o
TWO INTER, TOP RAIL WITH (8 174 - 20 x PUSH NUT

1/2° HEX HEAD MACHINE SCREWS & NUTS

3° STEEL LONG
STEM ROLLER

DroRIDA D FaBash, NC e §23832, TEXAS PE. §91513 et
REINFORCING FIN ON INTER. TOP L L T Y S A
DESIGN LOADS: +25 & —25 P.S.F. MANUFACTURING PRODUCT CODE:
Ll AN—_S'EET?;J :T_ E;m SIHCES TEST LOADS > 4+37.5 & —37.5 P.SF. MPC: C-AL-1F 499 A
Unless Stated Otherwise - ﬂl B585 Duke Boulevard CLOPAY WINDLDAD RATING
Mason, OH 45040 USA
TOLERANCES are D Tel No. B13-770-4800 \/\/ 4
0 = +.031 CORPORATION Fox No. 513-770-4853
dgo = i-gé—g DESCRIPTION: M/N 902, C2AL, 24'2" WIDE DES. +25/-25 PSF
CLOPAY CORP. ool = i DRAWN BY: BFA DATE: 11/30/04/ SCALE: NONE  |pwG.
O cERVED: .0000 +.001
Third Angle Degrees = *1/2° [CHECKED BY: - DATE: - SHEET 1 OF 1 [SIZE
i) G @D_G DMENSIONS. ARE IN NGHES.| DWG. NO.: 103332 VER: TDI

4 3 s 2 1



2 \ 4

2

CLOPAY MODEL 902
IDEAL MODEL C2AL

UP TO 24'-2" WIDE X 18’-0* HIGH

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (TO SUIT)

3" GALV. TAPERED STEEL TRACK AND ANGLE,
TRACK THICKNESS: .101".

ANGLE THICKNESS: .080°

VERTICAL /HORIZONTAL TRACK
JUNCTION. TWO 1/4" BOLTS

14" MAXIMUM SPACING

—10"

TR ?22133~1/2.

£ [ FROM LAST MOUNTING

3 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION

g ’“\

- ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS

g OVER 7'0" HIGH SPACED AT 12" CENTERS.

Jad

. TRACK CONFIGURATION

z ONE %" TRACK BOLT AND NUT

e =t AT EACH MOUNTING SLOT

£ 4 LOCATION.

(4]

2

5

g NOTE: TRACK
CONFIGURATION
ABOVE THE DOOR

T OPENING DOES
EVERY 127 NOT AFFECT THE

WIND LOAD RATING
OF THIS DOOR.

CENTER STILES FASTENED TO RAILS

3/16" MIN.
STEEL JAMB

1/8"1" LONG
FILLET WELD (EGOXX
ELECTRODE MIN.). WELD
TO BE LOCATED VERTICALLY,
ON ANGLE AT 24"
CENTER AND 1/4° TACK
WELD TOE OF ANGLE AT
SAME SPACING.

MAY BE BACK-—
FILLED WITH

CONCRETE, BUT
NOT REQUIRED.

STEEL JAMBS

12 GA. GALV. REVERSE
OR CONTINUOUS ANGLE
MOUNT TRACK FASTENED
DIRECTLY TO STEEL JAMB

WITH FULL LENGTH 5/16° STEEL
RODS AND FLANGE NUTS

OR-LOVLY CENTER HINGES DN
EVERY OTHER STILE STARTING
WITH CENTER OF DOOR.

END STILES FASTENED TO
RAILS WITH FULL LENGTH
S5/16° STEEL RODS AND
FLANGE NUTS

COR-LOVLY CENTER HINGE OF 16 GA. GALV,
STEEL, ATTACHED TO INTER. BOTTOM RAIL
WITH (2> #14 x 5/8° SHT MTL SCREWS AND
TWO INTER, TOP RAIL WITH (@) 1/4 - 20 x
172" HEX HEAD MACHINE SCREWS & NUTS

SECTION 2 — 2

PUSH NUT

3’ STEEL LONG
STEM ROLLER

REINFORCING FIN ON INTER., TOP

RAILS ANGLE

CUT AT END STILES

SECTION 4 - 4|

2,000 PSI MIN
CONCRETE

3/8" DIA. x 1-1/2"
MIN. EMBED SLEEVE ANCHOR
BOLT. WASHER INCL'D.
11% MAX, O.C.
TO SECURE 2x6 JAMB
TO CONCRETE.
C'SINK IF NEEDED.

4N'HNUOUS ANGLE

MOUNT TRACK FASTENED
TO 2x6 §2 OR BETTER
YELLOW PINE JAMB WITH
ONE 5/16°1-5/8" LG.
LAG SCREW PER BRACKET
OR TRACK CLIP LOCATION.

CONCRETE JAMBS | SECTION 5 = 5

2,000 PSI MIN
CONCRETE

1/4"1-1/2"

TO CONCRETE.

REVERSE OR CONTINUOUS
ANGLE MOUNT TRACK
FASTENED DIRECTLY

TO CONCRETE.

MIN. EMBED TAPCON
CONCRETE FASTENER.
1" WASHER REQD
9” MAX.

| To SECURE ANGLE

STEEL JAMBS

3/16" MIN. STEEL
JAMB

MAY BE BACK-FILLED
WITH CONCRETE, BUT

NOT_REQUIRED FOR
SELF TAPPING SCREW.

SELF TAPPING
SCREW.

16" MAX. O.C.
TO SECURE
ANGLE TO
STEEL JAMB.

REVERSE OR CONTINUOUS
ANGLE MOUNT TRACK
FASTENED DIRECTLY

TO STEEL JAMB.

1/4"x3/4" LG.

WOOD JAMBS

3/8" x 1-1/2" M,
/_ EMBED LAG
SCREW. WASHER

REQ'D. 20" MAX.

0.C. TO SECURE

2x6 WOOD JAMB

T0 WOODRE
1-1/8" DIA. WASHER REQ'D.
C'SINK IF NEEDED.

CONTINUOUS ANGLE
MOUNT TRACK
FASTENED TO 2X6 §2
OR BETTER YELLOW
PINE JAMB WITH ONE
5/16"1—5/8°LG.LAG
SCREW PER

TRACK CLIP
LOCATION.

REVISIONS
REV. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
07 - 02/2022 - - SEE SHEET 1 FOR REVISION DETAILS.
Q
& %
»
t
<
2
,;; -
s ¢
T DESIGN ENGINEER: MARK WESTERFIELD, P.E. ' e ,5"
S T Wb (B0 AR TS s n s o —
ARCHITECT OF RECORD. BT oRS  197.5 & 2375 PSF. MPC: C2®AniF499
Unless Stoted Otherwise -BI 3585 Dghe4§8ulevard CLOPAY WINDLOAD RATING
TOLERANCES are ) npay o e, 31327704800 \/\/ 4
0 = +.031 CORPORATION Fox No 513-770-4853
683 = i.gég DESCRIPTION: M/N 902, C2AL, 242" WIDE DES. +25/—25 PSF
CLoPAY CORP. 0000 = +.001 DRAWN BY: BFA DATE: 11/30/04 SCALE: NONE DWG.
Third Angle Degrees = +1/2° |CHECKED BY: - DATE: — SHEET 1 OF 1 [SIZE
Tttt AT | S 28 WO, N 109532 T

3

2




